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QUESTION 1

Click the Exhibit button. 

A customer has a 4-node cluster and wants to know what will happen to their data if one of the two HA pairs goes down.
Epsilon is configured and working properly and is owned by Node1. Nodes 3 and 4 have failed as shown in the exhibit. 

What happens to the customer\\'s data that is owned by the HA pair 3 and 4? 

A. Nodes 1 and 2 will takeover the storage for nodes 3 and 4 and continue running normally. 

B. The cluster will go into maintenance mode and only allow administrators access to data on nodes 1 and 

2. 

C. The entire cluster will panic and no data will be accessible. 
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D. The customer will lose access to the data on nodes 3 and 4 but will still have access to storage in nodes 1 and 2. 

Correct Answer: A 

 

Explanation: An HA pair is two storage systems (nodes) whose controllers are connected to each other directly. In this
configuration, one node can take over its partner\\'s storage to provide continued data service if the partner goes down. 

Reference: Clustered Data ONTAP 8.3, High-Availability Configuration Guide, page 7 

 

QUESTION 2

Click the Exhibit button. 

Customer wants to modify the properties of their SPI Web services as shown in the exhibit. What is the reason for the
error? 

A. The customer is trying to modify a service by specifying the wrong type of SVM (Vserver). 

B. The customer is trying to modify a service that does not exist. 

C. The customer is trying to modify a service by specifying the wrong service name. 

D. The customer is trying to modify a service by specifying incomplete parameters. 

Correct Answer: C  

 

QUESTION 3

You have completed a clustered Data ONTAP installation for a new customer. You are now ready to hand off the
system to the customer. 
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Which three actions should you take at this stage in the installation process? (Choose three.) 

A. Show the customer how to open a case with NetApp Support. 

B. Demonstrate System Manager and its functionality. 

C. Tell the customer to call their sales representative if there are further questions. 

D. Tell the customer you are finished and then leave the site. 

E. Show the customer how to set up a support account. 

Correct Answer: ABE 

 

QUESTION 4

When you create a single-node cluster, which statement is correct about the cluster base license key? 

A. A single-node cluster does not need any cluster-base license key. 

B. A single-node clustered Data ONTAP 8.1 license key is seven characters long. 

C. Clustered Data ONTAP 8.2 and 8.3 license keys are 14 characters long. 

D. A single-node cluster requires a cluster base key to use a cluster. 

Correct Answer: D 

Explanation: A Cluster Base Key required to create a Single-Node Cluster. 

Incorrect: 

Not A: A single-node Cluster requires a Cluster Base Key to run the create cluster command. Not B: 

Clustered ONTAP 8.1 license keys are fourteen (14) characters long. 

Reference: FAQ - Data ONTAP Licensing 

https://kb.netapp.com/index?page=contentandid=3013756andactp=LIST_POPULAR 

 

QUESTION 5

You will be performing a new cluster Data ONTAP 8.3 or later installation. 

Which three tools would you download to facilitate this task? (Choose three.) 

A. Config Advisor 

B. Cluster Config Builder 

C. OnCommand System Manager 

D. System Setup tool 
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E. SLDIAG tool 

Correct Answer: ACD 

Explanation: D: After installing the hardware, you should use System Setup whenever possible to set up the cluster. 

C: After setting up the cluster, you can use either OnCommand System Manager or the Data ONTAP CLI to continue
configuring the cluster. 

A: You can go to the NetApp Support Site and download the Config Advisor tool to check for common configuration
errors. 

Reference: Clustered Data ONTAP 8.3, Software Setup Guide, page 4, page 22 Reference: Clustered Data ONTAP 8.3,
MetroCluster Installation and Configuration Guide, page 137 

NS0-180 VCE Dumps NS0-180 Practice Test NS0-180 Exam Questions

Powered by TCPDF (www.tcpdf.org)

NS0-180 VCE Dumps | NS0-180 Practice Test | NS0-180 Exam Questions                                5 / 5

https://www.pass2lead.com/ns0-180.html
https://www.pass2lead.com/ns0-180.html
https://www.pass2lead.com/ns0-180.html
http://www.tcpdf.org
https://www.pass2lead.com/ns0-180.html
https://www.pass2lead.com/ns0-180.html
https://www.pass2lead.com/ns0-180.html

